RETFALN B BERD 02

1. HlOoXHIREERDDPOPEZALEZE L. (S35, A4 308, Bik6m, CHk8)

Bl P(z) =23+ 42% + 62 % x + 3 THIL.
Pz)=(x+3)(z>+x+3)—9

(1) P@)=2*-22°+42% - 3x+2 % » — 2 THn. (2) Pa)=23-22+2-2% 22+1 THlN.
3)  Px)=(22-1)Q(z) — b5z & =+ 1 THlt. 4)  P)=@*+1)Q(z)+ax? THDLE,

(x —1)P(x) & 22 — 1 THIN. 727201, aldEHK.
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2. PloXHICHERD PO IALEFZE L. (SHk3 7, Atk47 308, Bi#6sr, Cilks )

il  P(z) =23+ 422 + 62 % x + 3 THIHL
Pz)=(x+3)(z>+x+3)—9

(1) Px)=22*—23-322+5x+4 % o+ 2 THn. (2) Pla)=2®—22-4% 22 +2+1 THI.
(3)  P@)=(2*-1)Q(z) — 2% & 22+ z + 1 THIn. (4)  P(z)=(2*-8)Q(x) +azx? TH B L &,

(x+2)P(z) & 2? — 4 THII. 727201, alFER
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1.

REFAN Bt BERD 02 WREMH

DX IICHEHERY VPO EALEZE L. (S35, A4 30F, B6D, CH8)

1

(1)

(3)

P(z) = a3 + 422 + 6z % z + 3 TH#L.
Pz)=(x+3)(z>+x+3)—9

P(z) = a* — 223 + 422 — 30+ 2 % = — 2 THEHN.

P(z) = (x — 2)(«® + 4z + 5) + 12

P(z) = (2> - 1)Q(z) — 52 % = + 1 THIN.

Plz)=(z+1)(z-1)Q(z) —5(zx+1)+5

=@+ {(z-1)Q(x)—-5}+5

(2) Pa)=23-22+2-2% 22+1 THlN.

P@)=(x24+1)(z—1) -1

4)  P)=(2*+1)Q(z) +az®> TH B L &,
(x —1)P(x) & 22 — 1 THI#L. 727201, aldEH.
P(z) = (x4 1)(2® — 2+ 1)Q(x) + az?

£oT,
(r—1)P(x) = (z—1)(z+ 1) (2% — 2+ 1)Q() + az® — az?

=@ -1 x @ —2+1)Q(x)+ (2?2 —1)(ax —a) +ar —a

=@ -1){(x>—-z+1)Q(x) +ar —a} +ax —a
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2.

DX IICHEHERY VPO AL EZE L. (S35, A4 30F, Bi6D, CH8)

il  P(z) =23+ 422 + 62 % x + 3 THIHL
Pz)=(x+3)(z>+x+3)—9

(1) Px)=22*—23-322+5x+4 % o+ 2 THn.

P(x) = (z + 2)(2x3 — 5x? + Tx — 9) + 22

(3)  Px)=(2*-1)Q(z) — 2% & 22 + 2 + 1 Tl

Pla)=(z-1)(*+2z+1)Q(x) — (2 +z+1)+z+1

=@ +z+1){(z-1)Q(=x) -1} +z+1

Plz)=a2%—-22—4 % 2% + 2 +1 THN.

Plx)=(24+xz+1)(z—2)+x—2

P(z) = (2* - 8)Q(z) + az® TH 5 L &,
(x+2)P(x) & 2% —4 THIN. 727201, aldEHK.
P(z) = (v — 2)(2? + 22 + 4)Q(x) + az?

X»o T,
(x4+2)P(x) = (x4+2)(z—2) (2% + 22 +4)Q(z) + ax> + 2ax>

= (22 —4) x (224 224+4)Q(x) + (2? —4) (ax+2a) +4az+8a

= (x? — 4) {(=® + 2z + 4)Q(x) + ax + 2a}
+4ax + 8a
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